(2l Kar}

— |



a—x = =
254 oD 5o o0 0 o) 3 Aol 79 W, BEAE B

2
SHe A4 a 9 %I%ga}i’guﬂ,x—yﬁq &g etz

D R
=%



sholat,

ey

a° %






—_
1jo

ol
N

ol

oju
8

1jo

17} 255]

9

9

3x+ay=9



x+y=b

o 87} 24

ax+2y=-4

b=-1

b=-2

@ a=1,b=-2

® a=3 b=-3

o

S| W2, q b O] F2?

®a=2 b=-1



Ho



ol vEo] A =TIt o] 22 1000 Y, ol o]= 500 Yoltt. 8500
HEs W 15 o] EolztttA o E3} of o= ZHz E 1glA] 5t

ofet,

(V]
o
2
ru
o4,

(V]
L
2
1,
o
ol



It

2o

1000
oz},

222000 9, of ol

= O

olFALe] YRR} of

15000 ¥-& Wil 12 o]

%<l

™
=

olzkeH, of el

=
=

Bo



o)

S}
of

10. o=

Y = 20 Fol| Eolt} 620 ol

o

SHA
ol

Ao 10% &4, AA

o

a4y

A 364 78, o

S}
of

Of -1

13627, 9

3

Tor

@ 9



11.

[

Lo

ojgg]ote] oj A|9] 3 A W=ielat o]=le det F <l
3500000 Foldth. I1dd 1 2 ojd W=l 10% A 7+
3, el wid 20% A S7Fske] Fdol @l=tlo] W=l
396900 o] okt o] wf, 3 o o=9le & Wyt (He
0.9% =0.729 , 1.23 = 1.728 & ©|-83}A|2.)

?_
A
H
s

@ 1180000 &3 @ 1190000 &3 3 1200000 3
@ 1210000 ¥ ® 1220000 ¥



12.

9o} A 2 A oL Az HAL] B A% YA
s

O
off HISto] o= 4% solHal A== 2% S EHA A A&

D 19800 7 @ 20592 i ® 9600 7H

@ 9408 7 ® 20596 74



